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If he is presenting a claim of blood, it is indeed so, etc.

Overview

The &1 states, regarding a 732 (according to our [s""w1] X07*3) that the husband
can claim that there was no 2°71n2 07, and cause her to lose her 72105, but he cannot
claim mnd nno by a n732.! Our Moo offers an alternate X0

= ©59902 2115 NIV 195 NIDN U9) ININ 13°29) DIVNPA D) 15
This is how >''w1 reads the text, however the 1''2 has an opposite X093 as it was
written in earlier texts, and it reads -

- 259)5 5533 551 NIND NN MYV PYO NPT ON

If he claims the argument of mn» rno, then indeed etc. he is believed -
= VY9 (1mxn Hnnnn M1 8,0 97) NP 7993 HIv9)

And I explained the 11"75 previously in the first p9s.

nvoN asks:
- 9593 NN YaN 0197 1Y PN XY NIMT YIONT INIIN 13539 WIVDY AUP NP

There is a sight difficulty according to the s'n''3 interpretation that a yy n>m

has no blood, but her opening is closed -
= YYIN? 529 NN INIDN) 129 NN 39U PNT 0INa 5 ON

For if indeed it is so, it was in in vain that nww 17 answered with difficulty,* this
(second) Xn»92 (which states 2°9102 NIWY 172 PXR) is according to A''9, and this (first)

&n>>12 (which states ([2°%102 naww 179 wN] 03p 172 w° is according to 5''1 -
= D27 MYV PYV XPT XN NN NN PYVO NPT RN IV 1810 MNNY

For he could have answered, this (first) Xn»12 is where his claim was mnp nnp

(which is a valid claim), and this (second) &n»92 is where he claimed 2% niyw
(which is an invalid claim) —

N1D0IN suggests an answer:

!'See (the end of) *X 3"71 71"7 >"wA. A 32 has 099102 o7 but her nN® may seem mND.

2 According to the n"1, a n7m2 (and a yv nom) do not have 0°7na o7, but their nno is closed (the exact opposite of
"wI9).

3 Previously on the '® Ty the Xma cited two mn>>13, which seemingly contradict each other. The first Xn»92 stated,
[@>21n2 navw 1% w7] 03P 112 w1 "1 nwani, and the second X012 stated, £°9102 NIV 177 X PV NI "1 nwani. [See the
previous '01n on the nwani 73"7 "% Ty for two explanations of this contradiction. This question follows the *"15 there
that a nwn has no 0°7102 N1 (the second Xn>>12) because she is y¥ N2 npia. See X"wann. See ‘Thinking it over’.]
4 It may be considered pmT3, since the 7397 is like 2X%°%23 127.
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And perhaps that Xn>>72 does not agree with the assumption that ‘a person does

not toil for a meal and then loses it’ -
= NN NTVNY NN NN 1201 N9

So, he would not be believed with the claim of mnp nne to make her lose her
na1ND —

mooIn anticipates a difficulty with this answer:
= T1INIT YIYNT ) 25N NIND NN PYVL NPT ON MNPT 23 Yy 9N

Even though the X n3 states here, ‘if he claims mnp nnp, indeed it would be so’;
which indicates that he would be believed, presumably to deny her the 72100 —

mooin replies:
- PYY NIDIND 1391 NIY

Perhaps when the X713 states, ‘he would be believed’. it means to make her
forbidden upon him, but not to deny her the 72103 payment —

mooIN is not satisfied with this response:
10D ENONYT NAIND PIYY DININA NPV 1Y YT YW HI¥5T XNHYYIa YaN

However, from the Xn>>92 previously it seems that the meaning of nipw 7% w»
2%%1n3 is regarding the 712305 payment, similar to the ruling regarding o1p.

Summary
There are opposing views whether a n7312 (and a y¥ n2m) have o°n7 N1ww, but not

mna nno N (the view of *"w) or the opposite (11'").

Thinking it over
1. ndoIN asks that the X3 could have resolved the contradiction between the two

3 The claim of mnD 1nD is not as strong as 07 NIwv. By o°n7 nivv, we can verify that there is no blood, therefore he is
believed that she is not a 191n2. However, by mind nnd nivw there is no way to verify this claim. The reason we believe
him is because there is a 7P of 77091 7702 11w 27X PR, However, the Xin of this (first) Xn™12 (that nivv 7% w°
0°71n2) may not agree with this ap1n, therefore we cannot answer that he is claiming mins nno, for that claim is not
sufficient in21N> 77°09:7%.

6 This 7P explains the view why he is believed with the claim of mns nns. He is telling the truth. Why would he lie?!
He just made a wedding at a great expense and bother, and he is certainly not willing to throw it all away! Unless he
is telling the truth.

" How can we say that he will not be believed 7n21n3 77°0975.

8 Regarding 01p it is a monetary ruling, similarly the ruling regarding 0°21n2 n1vv must be a monetary ruling ( 77°097%
7n21n2) and not merely 1°2¥ 7I0KRS.
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mn> 2 in a different manner.” According to the X"wAnn this question is (only)
according to the °"9 in the previous nwam 1"7 '01n. However, according to the >"79
the X07°) in the first Xn>92 is 0P 172 W, but we are not 073 that 2°2102 Y 372 W
So how can we say that the first Xn°72 is by 2°»7 N 310, what does that have to
do with 01p 177 w°?! And similarly, why does m591n conclude 121 2°¥%7 ®n»72 2R
0°9102 nww 3% w7, when according to the *" there is no mention of 2°21N2 NIYY in
the first Xxn»727?!

2. Why does not m»oIn ask the same question on >"wA, but in the reverse that the
Xn»12 which states 2°2102 N 172 v, is when he claims 2°»7 N, and the Xn»12
which states 2°71n2 nvw 377 X is when he claims mno nno?!°

% See footnote # 3 and in the bracketed section.
10.See 0w o"mn.
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